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EXAM NAME : SSC Examination
TOTAL MARKS : 200

QID : 101 - In the following question, select the related word from the given alternatives.
Player : Team : : Minister : ?

freafafEa vy § Ry g foeredt & @ wefda e &t gHgl

faerdt : m w2

Options:

1) Army

Ll

2) Troupe

AUSH

3) Council

4) Crowd
SEIE

Correct Answer: Council

Candidate Answer: Council

QID : 102 - In the following question, select the related letters from the given alternatives.
TRACK : MECTV :: POND : ?
et vy A Ry g faehedt & © Tefla sreri &t gfgl

TRACK : MECTV :: POND : ?

Options:
1) EOPQ

2) FPQR
3) G0QQ

4) HPPR
Correct Answer: FPQR
Candidate Answer: [ NOT ANSWERED ]

QID : 103 - In the following question, select the related number from the given alternatives.

850:863::430:7

fafafea vy 8 Ry 7y foweat & @ Hefda dwer wt gl
850:863::430:?

Options:

1) 437

2) 442

3) 435

4) 451
Correct Answer: 437
Candidate Answer: [ NOT ANSWERED ]|

QID : 104 - In the following question, select the odd word from the given alternatives.

feafafEa vy 8§ Ry 7y et & @ o gt gg)
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Options:
1) Cotton
U™

2) Mustard
GGl

3) Peas
AR

4) Sesame

Correct Answer: Cotton
U

Candidate Answer: Cotton
Easn)

QID : 105 - In the following question, select the odd letters from the given alternatives.

freafafea uy § g g faeredt & € faww sreri ot gig)

Options:
1) CXA

2) MNQ
3) PKN

4) HSU
Correct Answer: HSU
Candidate Answer: [ NOT ANSWERED ]

QID : 106 - In the following question, select the odd number pair from the given alternatives.

fafafea vy 7 Ry 7y faeredt & @ fovm g g ot gl
Options:

1) 64 - 576

2) 17 - 343

3)27-196

4)32-36
Correct Answer: 17 — 343
Candidate Answer: [ NOT ANSWERED |

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Yangtze
2. Yakking
3. Yakuzas
4. Yobbery
5. Yobbish

frfafere areal ot areaehtar & ST aTet oA & SR ford |

1. Yangtze
2. Yakking
3. Yakuzas
4. Yobbery
5. Yobbish

Options:
1) 24531
2) 23145
3) 54231

4) 54321
Correct Answer: 23145
Candidate Answer: 23145

QID : 108 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AK12, GV29, LF18, PO?
e S1ehH foar T 8, Ores @ e ue g 81 ey g fened A § a8 I8t fashed 9, St srgehd ol gu k|

AK12, GV29, LF18, PO?



Options:
1) 34

2)31
3)42

4) 40
Correct Answer: 31
Candidate Answer: 31

QID : 109 - In the following question, select the missing number from the given series.
21,26, 33,42,53,?

frfafea uer & Ry g et & & g sfe 71d RISl

21,26, 33,42,53,?

Options:
1) 56

2) 63
3) 66
4) 69

Correct Answer: 66
Candidate Answer: 66

QID : 110 - Ratio of present ages of Pankaj and Punit is 5 : 6 and the sum of their ages is 33 years. What will be the difference (in years) of their ages?

Gerot T GHIC el actHT ST ST STUTA 5 © 6 § AT I7ehT 31 T AT 33 TN &1 SFehl Mg H fehe1 3= (i #) &2
Options:

1)2

2)3

3)4

4)5
Correct Answer: 3
Candidate Answer: 3

QID : 111 - Kritika walks 40 metres towards south. Then turning to her right she rides 30 metres. Then, turning to her left, she rides 50 metres. Again, she turns to her
left and rides 30 metres. How far (in metres) is she from her initial position?

ferenT SfEToT &Y 3R 40 Hier Teelt 81 fR T8 S1o T STR Hga 30 Hier Taelt §1 fihe a8 S1o a1 8k gk 50 #iex Teret &1 a8 Y: 310 a3 3R qSahe 30 #iex Tere &1 I STu
IRFA T F fohaht gt (e &) w2

Options:

1) 65

2)70

3)80

4) 90
Correct Answer: 90
Candidate Answer: 90

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
CONSOLIDATE
g g ger §, fefoifea faeedt § § g8 ree gAY it g 1y 218 & $1eRT 1 T ek A1 ST S ehdT 81

CONSOLIDATE
Options:

1) CONSOLE
2) ONSET

3) SALTY

4) SOLID

Correct Answer: SALTY
Candidate Answer: SALTY

QID : 113 - In a certain code language, "STUBBORN" is written as "VUTAAOSP". How is "SHIPPING" written in that code language?

U fAfre e wror &, "STUBBORN" &t "VUTAAOSP" foRaT STTaT &1 59 s ATem & "SHIPPING" &t fohg TR forar sirgem?



Options:
1) TIJOOHPJ

2) QFOLLSLO
3) TIUNNOJH

4) JITOOHOJ
Correct Answer: JITOOHOJ
Candidate Answer: [ NOT ANSWERED ]

QID : 114 - Correct the following equation by interchanging the two signs and two numbers.
7x6+5-4=33
fffEa aeftesor & forg) & udlier famgl a & Tl o IRER sgae a8 HifSl

7x6+5-4=33
Options:

1) -,xand 4,5

-, Xdur4,5
2)x,+and 4,5

X, +dYur4,5
3)+,-and 5,6

+, —dur5,6
4)x,—-and 5,6

X, — dur 5,6
Correct Answer: +, — and 5, 6
+,—durs5, 6

Candidate Answer: [ NOT ANSWERED ]

QID:115-1f3@3*3=3and48 @4*3=36,then91 @ 13*2="?

I3 @3*3=3qM48@4*3=36¢,d191@13*2="?

Options:

1)4

2)8

3)10

4)14

Correct Answer: 14
Candidate Answer: 14

QID:116-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Arafeiag v # f@r o frreul # @ oy Rg
(?)% T W I Tl FEw F AT

1213|156
14| 7 [ 154
15113195

Options:

1) 11

2)16

3) 21

4) 31

Correct Answer: 11
Candidate Answer: 11



QID:117-
How many triangles are there in the given figure?

& o g 3 e Fag ¥

7 -
AP

Options:
1) 11

2)9
3)10

4)12
Correct Answer: 10
Candidate Answer: 9

QID : 118 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. No purse is cloth.
II. All purses are leather.

Conclusions:

I. No leather is cloth.
Il. Some leather are cloth.
Ill. Some leather are purses.

12 Rw 7T v § 58 U SR 3 91 I Al W SR 5 sy feg g &, gretifes 3 a7 aet @ fhraan g Fendt 81 Teft fen ug ofk fhe RufRa &k fk Rg o o=
@ feend, U 7TQ el & SMYR W gRAETT &1

hY:

I. 1E U husT T 8|
1. goft o TmeT €1

fAsepf:

|. XS TS UL A &
I|. T& THST HUST &
. & I9eT ud &1
Options:
1) Only conclusion (I) follows.
() =& 81
2) Only conclusion (l11) follows.
had Ry (111) I8t 61
3) Only conclusion (1) and conclusion (I1) follow.
et Fenef (1) qar P (1) 9 &1
4) All conclusions follow.

ot e Tt @1

Correct Answer: Only conclusion (lIl) follows.

Shaet et (111) TE 81

Candidate Answer: Only conclusion (l11) follows.

Shaet fsene (111) T8 81



QID:119-
Three positions of a cube are shown below. What
will come opposite to face containing “1'?

&= T ug & fiF aTaT AT T & HE
‘1’ Toudla woler T FiF TT HF HATII?

6 W ”
4 3
e 5

P

Options:
12

2)3

3)4

46

Correct Answer: 4

Candidate Answer: 4

QID : 120 - Identify the diagram that best represents the relationship among the given classes.
Brother, Husband, Men

g ARE Y St A2 g 7e i & ffa & Geier ot et AT shear g1

Wié, ufq, gy

Options:
1)

Correct Answer:




Candidate Answer:

QID:121 -

Which answer figure will complete the pattern in the
guestion figure?

@i H IR AP UH G & TR Bl Gl
GRE) Ik

)
111
[

Y %*-

Options:

1)
\

2)
3

4)
Correct Answer:
Candidate Answer:

QID: 122 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% T AP F T 3@ I FH A gEw
ow & wy apfa BT &

h




Options:
1

7

3)

4

Correct Answer:

Candidate Answer:

QID:123-

Options:

1)

il

Correct Answer:

Y




Candidate Answer:

2N

QID: 124-
If a mirror is placed on the line AB, then which of
the answer figure is the right image of the given
figure?

afg oo ZUUT @ AB T W I@T AT, ar &
I AGEAl A § wiF O dea uy wea &

& vfafes e

A

Options:

1)

2)

Correct Answer:
Candidate Answer:

3)

4)




QID:125-

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matnces can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 68, 95, etc., and ‘P’ can be represented by 75, 97, etc.
Similarly, you have to identify the set for the word “BAND".

UE G hadl Ud WEAT-OHE X1 guiar AT ¢, Shar fF faweut o @
el v # Gun &) fwedt # Bu v dmmruey el & o it
grr gee e € ot T A Broaw & smegg A R smegel & waew
iy ufs & @EAT 0 | 4 & 71§, AR g H 5 H 91 39 egpi A
U &R @ Upel 34 ofh 3T ag & waFsr dun g/ g
3IUT & foiw D* & 68, 95, MNTE ST GRIAT &1 HHal & adr P’ &l 75,
07, sfg grr gefar = wewar B s aig @ U uM A RBu ow g
“BAND” & foIv @a[p & ueuEar &

Matrix-I Matrix-Il
Il -l
oj1]2[3]4 56789
0/B|C|K|N|S 5|A|O|T|P|D
1K|B|S|C|N 6|T|IP|A|D|O
2/ C|S|IN|B K fIP|IDIO[T|A
J NIK|B|S|C 8|O|T|D|A|P
4/ S|N|C|K|B Q|D|A|P|O|T

Options:
1) 23,76,22,77

2) 11,67, 40, 95
3) 00, 55, 03, 59

4) 44, 89, 30, 87
Correct Answer: 00, 55, 03, 59
Candidate Answer: 00, 55, 03, 59

QID : 126 - In which of the following case, law of demand fails?

ffafeEa 7 @ g oRfRfa §, 7t &1 fFaw srawer gt sirar 82
Options:
1) Giffen goods

aEy

2) Normal goods
A a5G8
3) Inferior goods

4) Both Giffen and Inferior goods
e aeqd quT TMoT ey &t

Correct Answer: Giffen goods
Candidate Answer: [ NOT ANSWERED |

QID: 127 -

Options:
1) 1-b, 2-c, 3-a
2) 1-c, 2-3, 3-b

3) 1-a, 2-b, 3¢

4) 1-b, 2-3,3-c

Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-c, 2-a, 3-b



QID : 128 - How many fundamental Rights are mentioned in Indian constitution?

YRt Gy F fhaw wiforen sifiier Ieifaa 82
Options:

1) Five

i

2) Five

ura

B8

3) Seven

grd

4) Eight

3TS

Correct Answer: Five
g

Be

Candidate Answer: [ NOT ANSWERED |

QID : 129 - Which of the following Article/Articles cannot be suspended even during emergency?

frfafed 7 § e/ A srgese/srgedal &t STTUTdeIe o SR TffId 18! foha ST ehar?

Options:

1) Article 19

TR 19

2) Article 20 and 21
31FedT 20 qAT 21

3) Article 22 and 23
STEDE 22 TAT 23

4) Article 24 and 25
AT 24 FAT 25
Correct Answer: Article 20 and 21
T 20 TUT 21

Candidate Answer: Article 22 and 23
ST 22 AT 23

QID : 130 - Who was the first Viceroy of India?

R T UUH TG ST chi= AT?

Options:
1) Lord Canning
TS AT

2) Lord Curzon
TS ol
3) Lord Wavell
GICECR]

4) Lord Mountbatten
TS Aesed

Correct Answer: Lord Canning

oS &t

Candidate Answer: Lord Canning

QID : 131 - Who wrote 'Nyaya Sutra'?

g feha fored)?
Options:

1) Vyasa

g

2) Gautam

Tiaw

3) Kapila
Eair]

4) Charaka
IRk

Correct Answer: Gautam
Candidate Answer: [ NOT ANSWERED ]|

QID : 132 - Earth's Deepest point in water is Mariana trench. It is located in which of the following oceans?

AR 7 gt & urt § waffes mew 7 81 a8 Fefafea 5 § fora mgR § {9 82



Options:

1) Atlantic Ocean
3¢ HETETR

2) Arctic Ocean

3T AEMETR

3) Indian Ocean

e HgEmR

4) Pacific Ocean
TRIT AgTITR

Correct Answer: Pacific Ocean
YRIT= HETETTR

Candidate Answer: Pacific Ocean
TR HETHTR

QID : 133 - Masai is a tribe of which of the following country?

#Ts 1 7 @ fone a1 <l Siomfal 87
Options:

1) Kenya

=

2) Germany

S

3) Australia

4) India

YRT

Correct Answer: Kenya

Candidate Answer: [ NOT ANSWERED ]

QID : 134 - With which of the following body organ is 'pace-maker' associated?

frfafEd & @ & & o & 09 Ao’ Fafia 82

Options:
1) Liver
KICK

2) Brain
Afe=h

3) Heart

ged
4) Lungs
e

Correct Answer: Brain

Candidate Answer: Heart
g

QID : 135 - Haemoglobin is an important component of

gereife o g gk gl
Options:

1) white blood cells

A T ARG

2) red blood cells

SATeT T<h RN

3) plasma

TATHT

4) All options are correct

goft 4

Correct Answer: red blood cells
STl TTh ehHfRAeATd

Candidate Answer: plasma
TATSHT

QID : 136 - Anaemia is caused because of deficiency of which of the following?

frfafea # § e <t &t & sror g gt 82



Options:
1) Cobalt

Ay

2) Iron
GG

3) Sodium
ifsam

4) Calcium

Correct Answer: Iron

Candidate Answer: Sodium

QID : 137 - What is the minimum distance (in metres) required to hear an echo?

ufaeat = & forg =gaam gt (Hfex ) fopat g+ =nfgg?
Options:

Correct Answer: 17
Candidate Answer: 21

QID : 138 - Why does a black board appears black in colour?

Teh LGTHUE T B ehiell ot s 2 82
Options:

1) It reflects black colour

Tg el T ufafdifea sear @

2) It absorbs black colour

IE Il AT AN el §

3) It reflects all colours

Ig IR &1 ufafdfad avar &

4) It absorbs all the colours

I IR T SN el &

Correct Answer: It absorbs all the colours
I AR T SN el &

Candidate Answer: It reflects black colour
TE hTeT T ufAfeiferd sear &

QID : 139 - Which one among the following is a main system board of a computer?

feafafEa & © @i 91 ges SoTes a1 R a1 IR e 82
Options:

1) CPU
drdryg

2) Keyboard
FrEe

3) Microchip

ATEHIRT

4) Mother board

TeRaE

Correct Answer: Mother board

Candidate Answer: [ NOT ANSWERED ]

QID : 140 - Which among the following metal is used for galvanization?

fosTelt & o7g IgM <l fona A feariiensor & ffeifed & 9§ fohd e1q a1 SuaiT foRaT Sirar 82

Options:
1) Zinc
ST

2) Copper
GIE

3) Iron
GG

4) Silver
ElEl

Correct Answer: Zinc
STET

Candidate Answer: Zinc
STEIT



QID : 141 - What is dry ice?

gt 5 O g8 ey €2
Options:
1) Solid Carbon dioxide
B HIE SEHTRIES
2) Solid Nitrogen dioxide
IAHTFES
3) Solid Sulphur dioxide
B T STEHTIIES
4) Solid Water
B ST
Correct Answer: Solid Carbon dioxide
LIGEICERSIERICIES
Candidate Answer: Solid Carbon dioxide
LISEICERSIERIEIES

QID : 142 - Which of the following represents the most complex trophic level?

frafafea & & o sifea diftend &R &t gufar 82

Options:
1) Community

g

2) Population

SIS

3) Ecosystem
a

4) Species

vt

Correct Answer: Ecosystem
GE

Candidate Answer: Ecosystem
GE

QID : 143 - Chief Minister of Andhra Pradesh launched a medical scheme for APL families. What is the name of that scheme?

3ier w3 et A UL Y. gt uRari & g Uen T G ot QR Rt &1 9 IS ot Rt AT 82

Options:

1) Haritha Kalyanam
gReT heamony

2) Arogya Raksha
SR &

3) Kalyanamsurvay

4) Swasthya Raksha
TTRRY ET

Correct Answer: Arogya Raksha
&

Candidate Answer: Arogya Raksha
SR &

QID : 144 - Who discovered X-rays?

X faor it @it fora it oft?

Options:
1) W. C. Roentgen
ey, Hf. Aewm

2) Albert Einstein
SETE IEE

3) Samuel Cohen

4) Edward Taylor
TSTE TR

Correct Answer: W. C. Roentgen
ey, t. Aewm
Candidate Answer: W. C. Roentgen

ey, t. Aewm

QID : 145 - How many players are there in a water polo team?

ST ST () Y g & F e R g &7



Options:
1)6
2)5

3)7

4)8

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID : 146 - 'Lavani' is a dance form of which state in India?

‘rgoft” Fes T vRa & fohg I § deifdq &2
Options:
1) Maharashtra

2) Guijarat

TSR

3) Madhya Pradesh

e TR

4) Andhra Pradesh

3TgT TRT

Correct Answer: Maharashtra
HERTE

Candidate Answer: Maharashtra
HERTE

QID : 147 - Who is being awarded with Asian Award 2016 as the Chivas Social entrepreneur of the year?

R e & fRare amfoies sgaardt & forg gfwarg geeenr 2016 @ wwfa faar mar 82

Options:
1) Vikram Patel
[EER T

2) Shri Prakash Lohia
ff wrepTer Aifear

3) Rami Ranger
NIEES

4) Anil Agarwal
SIfeT SrraTe

Correct Answer: Vikram Patel
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - The book "Azad Bachpan ki Aur" is written by which author?

\3TSATG SEU <hl TR’ AT Jeadh fohg eikadh g foredt g 82

Options:
1) Kailash Satyarthi
et geareft

2) Radhakant Bharti

RMYTehld

3) Dipak Misra

e s

4) Subhash Chandra

Y T,

Correct Answer: Kailash Satyarthi

ShetTaT gt

Candidate Answer: Kailash Satyarthi
Sherer Tt

QID : 149 - India by the Nile', was a cultural festival celebrated by India and .

AT A T TS’ AT Hipfaieh Sca HRA dUT _____ GRT AT T AT

Options:

1) Sudan
gsH

2) Kampala
hHUTAT

3) Egypt
e

4) Kenya

&=

Correct Answer: Egypt
e

Candidate Answer: Egypt
e



QID : 150 - Sheikh Hasina Wazed is the Prime Minister of which neighbouring country of India?

G T, 9RA & v TSI =1 A memesit &2

Options:
1) Pakistan
qifchea™

2) Bangladesh
fTeTTeer

3) Afghanistan

SHITET

4) Nepal

Jarer

Cprrect Answer: Bangladesh

FAATRRT

Candidate Answer: Bangladesh

FAATRRT
QID : 151 - What is the value of [12/(v5 + v3)] + [18/(V5 — v3)]?

[12/(v5 +v3)] + [18/(v5 — v3)] o1 A T &7

Options:
1) 15(v5 - v3)

2) 3(5V5 +v3)
3) 15(v5 +v3)

4) 3(3V5 +v3)
Correct Answer: 3(5v5 + v3)
Candidate Answer: 3(5V5 + v3)

QID:152-S, T and U can complete a work in 40, 48 and 60 days respectively. They received Rs 10800 to complete the work. They begin the work together but T left 2
days before the completion of the work and U left 5 days before the completion of the work. S has completed the remaining work alone. What is the share of S (in Rs)
from total money?

S, T a1 U Ger i ot shAat: 40, 48 2T 60 & & gr1 e &1 el ot O &t & ol 372 10800 % fierdt 81 3614 il el Ueh T1y IR foham, ol T vrd qrr 817 & 2 e gt qem U
& QX1 g1 ¥ 5 & gt e ot Stgey Il ST &1 S W i &t S1chert gof et &1 FeiRa i # & S a1 9w (% ) fhar 82

Options:

1) 4000

2) 4320

3) 4500

4) 4860

Correct Answer: 4860

Candidate Answer: [ NOT ANSWERED |

QID : 153 - A farmer's land is in the shape of a trapezium which has its parallel sides measuring 2.56 yards and 3.44 yards and the distance between the parallel sides
in 1.44 yards. The cost of ploughing the land is Rs 1800 per square yard. What amount will (in Rs) have to be spent in order to plough the entire land?

ok foheT & UT Toers SR Y ST & foraeht TamiaR sgemrsil Y s 2.56 TS a2 3.44 791 § JT THTiaR oorrstl & gt 1.44 71 &1 ST ol Sita= o1 @@=t 1800 % ufd af
81 g ST ot St o g foRaet 1fY (@ o) @< gifi?

Options:

1) 3672

2) 6732

3) 7776

4)8214

Correct Answer: 7776

Candidate Answer: [ NOT ANSWERED ]

QID : 154 - If after giving a discount of 18%, a book is sold for Rs 1599, then what will be the marked price (in Rs) of the book?

g% ues fohaTar sl 18% Y Te 3 & usd 1599 % § &1 SI1aT &, at feheTal ot Sifeha 7w (& ) orm ghm?

Options:

1) 1800

2) 1880

3) 1950

4) 2000

Correct Answer: 1950

Candidate Answer: [ NOT ANSWERED ]

QID : 155 - A man has 3 sons, 2 daughters and a wife. They divided a sum of Rs 19000 among themselves such that each daughter got 1.5 times the amount received
by each son and his wife received 600 less than each son. What is the total amount (in Rs) received by the 3 sons together?

Qe afth & i a2, 3F el aum ges uett 1 3761 19000 % i Tep A Y S1Tue § 59 UehR FieT dhl Udeh 9t ot Udeh a8 © 1.5 71 A A a2 Igeht uet ol gt 3¢ & 600 3
& et | =T S ol e areft gt I (7 ) R 8?



Options:
1) 2800
2) 3600
3) 5600
4) 8400

Correct Answer: 8400
Candidate Answer: [ NOT ANSWERED ]

QID : 156 - The average of 3 consecutive even numbers is A. If next 5 even numbers are added, then what is the average of these 8 numbers?

3 ST TF TErait ot ofiad A &1 afe SrTell 5 g0 Gxeansit ot *mifet fohar Siar €, at 377 8 St ot ofied aar 82

Options:

1)A+3

2)A+4

3)A+5

HA+7

Correct Answer: A+ 5
Candidate Answer: A + 4

QID : 157 - While selling an article for Rs 18450, a person suffered a loss of 50%. At what price he should have sold the article (in Rs) to earn a profit of 50%?

Ueh a%] Sl 18450 . T = TR Ueh <<k Y 50% Al 8T Eielt &1 50% T AT UTed et o forg I a%g ot fope ha (2. ) oR sr=mm anfeg?

Options:
1) 13837
2) 52000
3) 55350
4) 56775

Correct Answer: 55350
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - The present population of a town is 26010. It increases annually at the rate of 2%. What was the population of town 2 years ago?

Uk RMER ol TAAT STHEEIT 26010 81 ITH U a¥f 2% & & J gieg Bl 81 2 I8 Uget MR ohl ST it of?

Options:
1) 25000
2) 25100
3) 25200
4) 25500

Correct Answer: 25000
Candidate Answer: 25200

QID : 159 - A train of length 100 m crosses another train of length 150 m, running on a parallel track in the opposite direction in 9 seconds. If the speed of train having
length 150 m is 40 km/hr, then what is the speed (in km/hr) of the other train?

ek 100 Hiex ot It guet 150 Hiex wrweft Temt St Igeht gaMiaR et iR fauRa faen & e @ &, ot 9 ohe # uR st 81 afe 150 Hiex arweft Yo} iy ifay 40 o At /e B,
g Yot Y if (.. /erer F) R 7

Options:
1) 30

2) 48
3) 50

4) 60
Correct Answer: 60
Candidate Answer: 30

QID : 160 - What is the compound interest (in Rs) for 1 year on a sum of Rs 20000 at the rate of 40% per annum compounding half yearly?

20000 %. TR 40% & arfties 3 & siefanfiier Tater wR uah oy & dehqfe =aTet (3. H) 1 8?

Options:
1) 8000

2) 8650
3) 8750

4) 8800
Correct Answer: 8800
Candidate Answer: 8800

QID : 161 - What is the difference of the cube and square of the common root of (x2 - 8x + 15) = 0 and (y2 + 2y - 35) = 0?

(x% - 8x + 15) = 0 T (y2 + 2y — 35) = 0 &% THI Lk oh g T T & ofier bt 3fciR o ghim?



Options:
1)76

2)100
3) 294

4) 318
Correct Answer: 100
Candidate Answer: 100

QID: 162 -

Options:
1)11/13
2) 13/11
3) 16/9
4)9/16

Correct Answer: 13/11
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - What is the difference of the factors of the expression x2 + (1/x2) - 6?

a@iwTeh X2 + (1/x2) — 6 & U] oAl SHaR T &2
Options:

10

21

3)2

4)4
Correct Answer: 4
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - If x + (1/x) = ¥13, then what is the value of x5 — (1/x%)?

i x + (1/x) = v13 &), dt x° - (1/x°) A e &7

Options:

1) 169

2) 169v3

3) 393

4) 507

Correct Answer: 393
Candidate Answer: 507

QID : 165 - If D and E are points on the sides AB and AC respectively of a triangle ABC such that DE||BC. If AD = x cm, DB = (x — 3) cm, AE = (x + 3) cm and EC = (x — 2)
cm, then what is the value (in cm) of x?

ek ST ABC T oJsirett AB T AC TR shaST: fofe D a1 E 59 UeahR f&d & fah DEJIBC 81 afd AD = x .1, DB = (x — 3) §.#1, AE = (x + 3) @41, JWEC = (x - 2) .. §, At x ar
A (S F) ®r E?

Options:

1)3

2)35

3)4

4)45

Correct Answer: 4.5

Candidate Answer: 4.5

QID : 166 - If medians of a triangle have lengths 18 cm, 24 cm and 30 cm, then what is the area (in cmz) of the triangle?

I ge e it Afererait & owms 18 .1, 24 F.A1. o1 30 T+ B, o By o1 &whe (.42 8) 7 &2

Options:
1) 24V6

2) 244
3) 288

4) 360
Correct Answer: 288
Candidate Answer: [ NOT ANSWERED ]



QID : 167 - Two smaller circles touch a large circle internally and pass through the center O of the larger circle. If the diameter of the bigger circle is 28 cm, then what
is the area of the bigger circle which is not enclosed by the two smaller circles (in cmz)?

&Y o7 T Teh &1 gt aht SHicReh Wl & & T &Y gt & ahg; O | o &1 Tt &vef gt ohr carg 28 V.4, B, Y &¥ef g ot &t st (@781 2 ) o &, it Sl oy gt g7 Tiforr 7gt
&

Options:

1) 154

2) 256
3) 308

4) 616
Correct Answer: 308
Candidate Answer: [ NOT ANSWERED ]

QID: 168 -
In the given figure, O is the incenter of triangle
ABC. If AO/CE = 5/4 and CO/OD = 3/2, then what is
the value of BO/OF?

& oE 3y # M= ABC &1 g 0¥l IR
AOIOE = 5/4 3uT CO/OD = 3/2 ¥, @ BO/OF &

AT FAT &7
A
D f/ \\‘ F
f{,\ b
L \
RO N
L7 |G
£ 4
B E C
Options:
1)19/14
2)38/17
3) 38/7
4)19/7

Correct Answer: 38/7
Candidate Answer: [ NOT ANSWERED ]

QID : 169 - What is the simplified value of tan (6/2) + cot (6/2)?

tan (8/2) + cot (8/2) ol TRefied #1 T 872

Options:
1) 2 cosec 6

2) 2sec®
3)sin®

4) cosec 6
Correct Answer: 2 cosec 6
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - What is the simplified value of [(sec3x — tan3x)/(sec x - tan x)] - 2 tan?x — sec x tan x?

[(sec®x - tan3x)/(sec x - tan x)] — 2 tan®x — sec X tan x T GRelighd A T &2



Options:
1)0

2)2
3)-1

41
Correct Answer: 1
Candidate Answer: 1

QID: 171 - If sin® 8 + cos® 6 — 1 = 0, then what is the value of cos2 6 sin2 8 (If 6 # 0 or 1/2)?

Ife sin® 8 + cos® 6 — 1 =08, cos? 6 sin? 6 o1 & T &(TfE 6 # 0 a1 M/2)?
Options:

Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID:172-
In which subject the total marks of all the students is highest?

forg fow & goft o1 & FeT sich sifderan 82

Options:
1) English
Kol

2) Mathematics

o

3) Science

4) Hindi

&

Correct Answer: Mathematics

Candidate Answer: Mathematics

QID:173-
Which student scored the maximum marks in all the 4 subjects taken together?

forg w1 3 it 4 fawa ol TR Taffee siw e g &7
Options:

1) Student 1

BH 1

2) Student 2

BH 2

3) Student 3

B 3

4) Student 5

B 5

Correct Answer: Student 3
B 3

Candidate Answer: Student 3
B 3

QID:174 -

A new subject is added in which all the students have scored 100 marks. If total marks are calculated as sum of the marks of highest 4 subjects, then who will be
second in terms of total marks?

e T fawa ot anfart fora a8, o @it e A 100 sfcs Tit g1 afE Ie7ch et iRt <Rl 10T & forg 4 Ieaaw ikl arer it et ait foma 7T 8, <t gt SfcRl & SR R gER
T WR & GI?
Options:

1) Student 3
B 3

2) Student 2
B 2

3) Student 5
B 5

4) Student 4
B 4



Correct Answer: Student 2
B 2

Candidate Answer: Student 5
B 5

QID:175-
The average marks per student in English is what percent of the average marks per student in Hindi?

3Sh & ufa o sftaa sim, {8 & ufa e ofigq sicl @ foha=m ufasa &2

Options:
1) 91.48

2)97.12
3)92.71

4) 98.18
Correct Answer: 92.71
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No error'.

My sister-in-laws (1)/ who lives in Kolkata (2)/ have come to stay with us. (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No error'.

These kind of clothes (1)/ are rather expensive (2)/ for me to buy. (3)/ No Error (4)
Options:

Correct Answer: 1
Candidate Answer: 4

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

The employee did not to the argument of the manager.
Options:

1) precede

2) exceed

3) concede

4) recede

Correct Answer: concede

Candidate Answer: concede

QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

He was sworn as the Prime Minister of our country.
Options:

1)in

2) off

3) about

4) out

Correct Answer: in

Candidate Answer: in

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Cantankerous
Options:

1) Humorous
2) Quarrelsome
3) Remorseful
4) Dullness



Correct Answer: Quarrelsome
Candidate Answer: [ NOT ANSWERED ]

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Connoisseur

Options:

1) Decisive

2) Uncivilised

3) Discerning Judge

4) Narrow-minded

Correct Answer: Discerning Judge

Candidate Answer: Discerning Judge

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Nugatory
Options:

1) Delusive
2) Futile

3) Unreal

4) Productive

Correct Answer: Productive
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Naive
Options:

1) Artful

2) Candid

3) Credulous
4) Sincere

Correct Answer: Artful
Candidate Answer: Artful

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Mealy-mouthed
Options:

1) lll-tempered
2) Soft-spoken
3) Enthusiastic
4) Depressed

Correct Answer: Soft-spoken
Candidate Answer: Soft-spoken

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

By fits and starts

Options:

1) Occasionally

2) Totally

3) Finally

4) Irregularly

Correct Answer: Irregularly

Candidate Answer: Irregularly

QID : 186 - Improve the bracketed part of the sentence.

I had (not only helped her by) giving hints but also with providing him links.
Options:

1) helped not only to her by.

2) helped her not only by

3) not only helped her

4) No improvement

Correct Answer: helped her not only by

Candidate Answer: [ NOT ANSWERED ]

QID : 187 - Improve the bracketed part of the sentence.

We (has finished) our lunch half an hour ago.



Options:

1) finished

2) will have finished
3) had finished

4) No improvement

Correct Answer: finished
Candidate Answer: had finished

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The act of speaking irreverently about sacred things.
Options:

1) Atheist

2) Blasphemy

3) Bellicose

4) Defection

Correct Answer: Blasphemy
Candidate Answer: Blasphemy

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A person who talks too much of himself.
Options:

1) Egoist

2) Elite

3) Emetic

4) Egotist

Correct Answer: Egotist

Candidate Answer: [ NOT ANSWERED ]

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Entrepreneur

2) Remuneration

3) Apprentice

4) Soveriegnity

Correct Answer: Soveriegnity

Candidate Answer: Soveriegnity

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Tranquillity

2) Perseverence

3) Resplendence

4) Accommodation

Correct Answer: Perseverence
Candidate Answer: Tranquillity

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: In other countries which are populated by 'haves', frustration is among them also because they do "haves".
Q: In some countries, frustration exists because these countries are populated by "have-nots".
R: Frustration is a global cancer.

S: It has spared no country.

Options:

1) RSQP

2) SQRP

3) PSRQ

4) QRPS

Correct Answer: RSQP

Candidate Answer: RSQP

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a coherent
paragraph.

P: The real purpose underlying this maxim lies in its utility in the worldly sense.

Q: He has within him a spirit which is ever exhorting him to cut down his needs and learn to be happy with what he has.

R: Man is something much greater than an intelligent being using his intellect to make newer inventions from time to time.
S: It tells us to be up and doing, not to be passive in our attitude to life.

Options:

1) PRQS

2) QPSR

3) RQPS

4) SRPQ

Correct Answer: RQPS



Candidate Answer: [ NOT ANSWERED ]

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses the
same sentence in Passive/Active voice.

Why do you waste money?

Options:

1) Why is money been wasted by you?

2) Why has money been wasted by you?

3) Why is money wasted by you?

4) Why is money being wasted by you?

Correct Answer: Why is money wasted by you?
Candidate Answer: Why is money being wasted by you?

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Indirect/Direct speech.

The doctor said, "well, what can | do for you?"

Options:

1) The doctor wanted to know what he could do for her.

2) The doctor said that he couldn't do anything for her.

3) The doctor asked what he couldn't do for her.

4) The doctor wondered what he could do for her.

Correct Answer: The doctor wanted to know what he could do for her.

Candidate Answer: The doctor wondered what he could do for her.

QID : 196 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the futureisnotas _____
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

The world has seen a growth in several spheres.
Options:

1) tremendous

2) mere

3) hardly

4) slow

Correct Answer: tremendous

Candidate Answer: tremendous

QID : 197 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although itis __ that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth.
Options:

1) equal

2) unprecedented

3) negligible

4) negetive

Correct Answer: unprecedented

Candidate Answer: unprecedented

QID : 198 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although itis _____ that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

We can safely assume that the future is not as as once appeared to be.
Options:

1) good

2) strong

3) bleak

4) high

Correct Answer: bleak

Candidate Answer: bleak



QID : 199 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. The world has seen a growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

Although it is that many people, especially in the developing countries,
Options:

1) unclear

2) false

3) incorrect

4) true

Correct Answer: true

Candidate Answer: true

QID : 200 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. The world has seen a _____ growth in several spheres.

Agricultural production, industrial production, communication, medicine, education etc, have seen growth. We can safely assume that the future is not as
as once appeared to be. We are not by a vision of hungry hordes overwhelming world food resources. Although it is that many people, especially in the
developing countries, are hungry, illiterate and to diseases.

are hungry, illiterate and ____ to diseases.
Options:

1) prone

2) averse

3) liable

4) engross

Correct Answer: prone

Candidate Answer: prone



